65 G7 CH 7 WS 7 Congruency of Triangles p

Congruency of Triangles: Worksheet -7

1. Which of the following pairs of triangles are congruent? Give reasons.

i) A ABC:AB=4cm,BC=5cm, £B =720
APQR:QR=4cm, RP= 5cm, /R =720

ii) A ABC:AB= 4cm,BC=5cm, £B =720
A PQR:PQ=4cm, RP=5cm, R =720

iii) A ABC : BC = 6cm, ZA=900, ZC = 500
A POQR: QR =6 cm, ZR=509, £ZQ= 400

iv) A ABC: AB =5cm, BC=7cm, CA=8.5cm
A PQR : PQ = 7cm, QR= 5 cm, RP = 8.5 cm
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v) A ABC: ZA=900, BC=8 cm, AB=5cm
A PQR: 2P =909 QR= 8cm, PR=5cm

vi) A ABC and A ADC in which AB=AD and BC=CD

vii)A ABC and A ABD in which AC=AD and ZABC = ~ADB=90°

viii) A ABC and APQR in which BC = QR, #A=909, /B = ZQ= 659
and /R=250
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